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Main Changes In the code:

* Aggregate cut: 100 MeV for each calorimeter

 |ndividual tower cut: 200 MeV only for CEMC &
FEMC



CEMC+HCALOUT
Previous results
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CEMC+HCALOUT
After implementing 200MeV cut on individual towers

6/E vs ge (CEMC+HCALOUT)
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CEMC+HCALOUT: Calibration steps
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Weight for CEMC = 0.3737397
Weight for HCALOUT = 0.436801
Sum of weights is 0.373797 + 0.436801 = 0.810598
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Before 200 MeV cut After 200 MeV cut
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Checking whether 100MeV aggregate cut becomes reduntant after
implementing the 200MeV individual tower cut

te-ge
e ge— Vs ge (CEMC) .

1e-ga

AR

05

_|IIII TTII -I‘I_I_I_'I‘

-15

L=
L]
-
L=]
-
L]
ha
L=
ra
o
L)
L=

Only 200MeV cut on individual towers
implemented in above plot & 100MeV
aggregate cut is removed



CEMC+HCALOUT: Gaussian fits (after calibration):
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CEMC+HCALOUT: gaussian fits (after calibration):

) 98 vs ge (CEMC+HCALOUT) o1z
C Entries 1881
HoE * ¥? / ndf 48.61/34
E * Constant 130.7
e K ﬂ Mean 0.02147
F % + Sigma 0.2913
100— ; H
80— %
60;7 $ }&ﬁ
40f- % j‘
F {} s
“E i K
0: | \HW‘ . W
~2 —1 0 1 oo

te- e Al AT
—gg Vs ge (CEMC+HCHI_UU ) slicel5
r Entries 1734
e + ©ind 7577/32
120 }[ Constant 126.3
E ; }L Mean -0.007558
100l } + { Sigma 0.2748
a0~ 3 t
20} 1 iﬁ ﬂ}
o: L et ‘Jr Ll T**gf ! |
-2 -1 0 1 2 ‘&ﬁ




CEMC+HCALIN+HCALOUT
Previous Results
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CEMC+HCALIN+HCALOUT
After implementing 200MeV cut on individual towers
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CEMC+HCALIN+HCALOUT: Calibration steps

1008 s ge (CEMC) 1008 s ge (CEMC) y 29 vs ge (HCALIN) 1898 \s ge (HCALIN)
d E d Slo WF 0 F =
b <3 C 08
1.5 1} 80 06
C 0 04;
1 os- 60 02l
C 50 o
0.5 o
- C 40 -02f
j ol -05;.-' 30 -0.4
E O ! 20 -0.6[1
:_ _0‘5% bl " _‘:_ 10 -08)-
C E T vkt E =
. C | I | T 1 L 150 . . 0 B B L. | |
0 0 5 10 15 20 25 30 0 5 10 15 20 25 30 0 5 10 15 20 25 30
ge ge ge
; te,;ge vs ge (HCALOUT) % vs ge (HCALOUT) i ‘e,;Ee vs ge (weighted sum) » te,;ge vs ge (weighted sum)
s L g o 3 ge. g
o 0E-
i-' -02
-0.3

o 5 10 15 20 25 30
ge

te-ge

ge
R

vs ge (final calibration)

Weight for CEMC = 0.3737397
Weight for HCALIN = 0.0679849
Weight for HCALOUT = 0.436801
Sum of weights is 0.373797 + 0.0679849 + 0.436801 =
0.878583 12




CEMC+HCALIN+HCALOUT: Gaussian fits (after calibration):
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CEMC+HCALIN+HCALOUT: gaussian fits (after calibration):
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FEMC+FHCAL
After Calibration
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FEMC+FHCAL.: Calibration steps
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Before 200 MeV cut
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FEMC+FHCAL.: Gaussian fits (after calibration):
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FEMC+FHCAL.: gaussian fits (after calibration):
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THE END



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21

